- C _o_;\;c_\s.\g:k gﬁ:ﬂx%»?u ev fq ctfov Seew, bjﬂm o _

_ \_S.quv_c_eg&o{ *AA: AV e&va J Lﬁ_o Wev ngf ,A\ \ec:li~

,ﬁw;bj‘ﬂne_Snuzcg_; e

S — AAAA

CHolel (o g)i T b
_ Vom, |

. Z = lo+ 4|l ( &-3¢) S
2 = 12.69 L2e.é1 N

e o—

~ ,,,g_I;—"' Hole 2 .lSZ_I - 20-£L_7A yag

I
il




_7_..1;‘ e ave ﬂw\ € PDM*&J%F_) h?&kbu

wws c\\)evm-e egu Qv

__aYbsevhed kJJAAL Civeork

-25_




Z = 12.69 |20.6° |

*VZ_fAL
8§32 %44_7;-_144 Y I

Pav = W\ W

L TR AN
D R T

°_ e
Sac “.,5 - ™




ﬂﬁXLMFJL__,_. B , o

An industrial Load CQonsumen \lkw

at O. _SMﬁAFM;L@_ jﬁ;\aﬁﬁj{vgm_aﬂ;?&o V vwg

Line . TVie Evanswission Line vesstance .

'f\—om %L ﬁ‘téiz_ Qnmﬁgnﬁ*ﬁl j&:__fhmt__

y ,m;\a_e__%& q¢e£a$$ower IMat

-m:H. #_.Muks& \o£ So ef \uecl %&\L?pwgv Com‘am%

J}_BL{?MQLM&&*{?MK#LM_@_-"
& MW&~$A¥LS‘

X N




\/ 0D~
Viims ¢ | a ‘ I

,A__M__Imf. . et \\ KW T - I QO_A R4 W 3
(220\(0.5)

_W_ﬂj?tj__.._iI’m)ﬁ (02) = 2kw

I -

B ;:“% Loss “ |
A__ﬁv*# = I13KWwW ‘ R

;u‘t_a - , o

F28 B




e =\ \5 K’Wf f" .




E_.&ame\e -
FLHJWM\C ?Owev fa¢+w o} u'\g tﬂl LO&Q‘!

= B:—g —F

2300le” L. | | L S
Vrmsg -

[ S

_ \oad 4 oKW A 0.9 Lay,v f’ﬁ_

_ Load 2 : Sxw _ O. 95 Le,@t.nj Pr

=S | e T N = R L
1, = ;rv, — Cos 0.9

B _(2309),(@._*" N

_,_M___IL = 4, 8 3 - —25.84" /4,.....1*\:%__,

— . B W
5oc00 + Cos 0.9¢

1]

~ (2300)0.9%) .
T. = 2.25¢ [15\3 "‘*ff_ ”‘”A_,..f.;u o

N

~ —

CE . T AT - gaslen A

I

““""“121:‘“- Ceo s (GM-:—M& \ GCos (o (,.n,'ﬁ
P - O c\ "} 8 La 7 j_ ’}a— S



Como

| lex P_p_g_gx__._______-_Am__gN

. o
VY O B __-LI!_\:\_S._ x \ o R
S

1]

Complex Power

—

VVMJ - I:;;__,.w,__

i

S - QM g TN @\‘ - ® \ B -

S = \Ivn s Im.:_fo;é&\p__dl\_l_“ |

ST E&"""}Q; S -




e e o ——

- s Avev:«qe. __Fowgeaf v Waky 0000

M — ; . -
Q s RQ«C'\‘\VQ_FOMQV AN VAR

I\r\ ;)414;.4\‘3 1 S-l
Ny T 30 (G )

_L}Eﬂfuze '-S~§.+-v\ Ce o

Fosv Puve \V\O\Nsc\-awce

Sur- G?\ +90°

Xltw;_-__‘ALLk._-Ivmy —

e 1 .
Ty = News
O ‘Gét:——_wk vwag _____wL .




m,&}___/%rfu ve Ca 'P&Cs X anCe

 Bu-Qi = -8 o
QJ; - o= me; I:ln.l

_Im;_:__ia)_c va\ s

Qc = = Tows = - we Yo

Wwec
-33. .




B Vivﬁ.s R
Q 2 VNuews Tome s (@
= . &
E- o )
Z - (2+°,'+\, (LA;{\ L TN f
— o

R - (:oo\(&&q\ Sin (Km_,(-u&‘ )

£§z L__355 VARS

—IJ__*.“‘LO 1 Avm‘c_w S R ,
T, - 295 Aw




. __f._‘@:;; SLM Jm,ps__‘m( Sy | F\ﬁ -

(2 tan (Suv- D) :
()
lay

e Qs P tan (B B

Y SR N 6 -
N —— | o6 )
T = [fe+0 [
‘S> — \[ms_LLymL GV_ Q B




- Tav

To increase PF, e need to decrase @

Fovr in Aanc *ive Cilveulh A0




_ S

|}

A

S, Sl

-37.




Can sevia *M_o_j( Ac .fo_.t_é_ ev

We QQMle V € a \5 esx\ck reactive

Powevs °7€ l‘lﬁ& -,SQ\NCQS &c‘u\q\ﬁ,

-l:)l\e fﬁSfec-\ﬁgg S_um_of 'uf\t Com]a,._lg,zgmu_

vyeal P od vea _c,:’;f\y;vvep_u_gz&uoﬁf S

the V\o\'\\)(ﬂu all ,[,o,ael_c;_ S _A

i ——— e — —_— ——

& = N I: A N\ . MI:_,_N%_,,, -

_ Seuver N ——

,____M B — S
i ~385.




Ern clm L_g‘?ehz;v 7[*_%_

}[ the tiuo Loads

O- S —— e e e
-+ B - S
A i
~— 2300 59 **** I _’ET‘*‘ B o . B L i
- v"MJ B - - I

‘Skw 0.9 Leading pr

« P tan

PR\) — )_ _Q A

_,__‘_*_ e

C’asiﬁﬁ,) = 4842 VARs

~‘ SA, = \0-2900 + 3 M 1§43 S
o S a - ﬁ: o 4.‘__*3, Q
o ,...A-L ‘.{)oﬁ;,r _ton C°3 (:ﬁl:l_.__u

(v = . 1693 NA es

.,‘;,_.,\;.fa 5000~ [£4) )
. - -




o -~ —
.(-rr- - ;S,_\- - S‘\
.g;+h_ - | 54&2;1;*L?_A34159<> o
S, = 1533356 ]1wet  ~a

Pe = Cosl(iz.on)

T NG

PF = 0.9%8 Lagoing -

-

~Ho _




¢

o woevr Facter Coyvection

R IEOPL’W ,fgs %L_C_Z:D_VM&_C:L{Q\.\# \}3 _»“Jdn o f)c_ci:_ o

0:;[ IAMAA;:\D¢£&\L “PO@__QV ?[ac +m/

/i tMour _&\isilij%:_:\ﬂﬁa:w
Covrend & -_TMAQ__-_Q_Z%ML*_ Lo aor .

B jéf/ F conomic j@c.;ig_\mwf




To imprwve the Pow ev f“ e ;ff”f -
o e m wd Oltc véafSe UI\C ﬂea CJL\ ve S
oogea} B

. gy_;.;gQIMLJmLEi;éé.@c.&‘}_cq;_ Cadd

a. C a‘D_& QAAAD/ A €m\\tLﬁi-‘o u"L B

—— \ “ \

..




Exemple S

\-ﬂ A CQV\SU"‘&L
A QeV*O\LnH-\V\AAAS"\'\/ ‘\L ? w

’ . &"Mff:f
| Mw ak 0.9 L“39 _) fowwaﬁ c

anvdl a 200V yms .

WHaat v tMe v inimum Cg.%a ch ‘\~uv Nﬁoiul |
— L . » e
vmfmeLﬂAg‘.ep u)w 7(« c—Juv ﬁ: S
B - N

2732 v|s
0.9 \—-os&g :ﬁ_”&’_mﬁ

=AM fan fé;; o. '-Jj

= .02 MVARs
Qo=

Ty T E—
W “““ﬁ‘r fan C°”"f’_"3fq -
e e [edea)

0.484. Mvﬂﬂs _
fffffffffffffff e

G B - @ o

0.5)¢4 M Vaes
Qe =

FH3 -



(e = = Y™
(‘ﬁ e i \A)C VV;\(
. .
C = - e - 26T HE
Lo Ver,
—e Log 1
g‘p
MW
—
N

Ay~



Load 1: EKwW ; 0.8PFleadig

L Ds.oL_A :#‘20 KVA S, O 6 f,_— La J}.uj

| t) Determine the ﬁow_ggﬂé\m 97’44.:,;.,;_&

o __Laaae.p_m* @QAALQL

) Deﬁvmv\;_ﬂfsx _e\_,fjemﬂ-\- @_w;y vRqu | wved

J-/L\e. Cuwent __I_L—/ Mdt_ ‘LAV‘KB‘LFMMM_LQA e
kAAg_i\ﬂhM) YALS S\ LmL - , R

in—-*CQMfAdtJAAL Nalue 4 e Capacy '\'mw_d ~.._*<-
_wou\d  Cowect. J:)Ag_go_ww—fudu & 4 s.;:

-H6




,%;_%Lilalw_\fn__e_@@\\e\. Wi kM e b;m__lgg_&s; .

337 vls

()

w) Jlepeat step 2




ﬂ-ﬁﬂlaaao% ﬁE;-;.,-- 0 C La.}jw\)

| e ¥

T T AP —
___QQ__L_ﬁT"_'tAsA]LL_DJ_( ﬁ;u = =|-; / ZO;A_XS; ]

T
§_‘ = /2000 + J\ /oo _;___ *\Lﬁg - ) | MMA:

|
E - e lexe e

3 " Cuéz . s‘iﬁ)ﬁ- 0.894¢ q_LAﬁy

lou\s R




A___,_,___.‘¥ . S S e S
S'w (LM_S-_F_:.:»__ﬁQ_lz 60 g‘_sj‘,{u o
| -

L 1 B S A—

3 Swmee  S; = 200004 l0000

i = \OOBo  VARS




"'I) Siwce - - O

o A = 20000 VA

e - 78"‘ = 20000 NA

= 20000 LO°~ ~NA

S e .. IX

S © —
e L : = 2002]& _;M,Am_ﬁ_

250]0°

'

80]_90_. Avm.s

Pl'. = \L (D 05) o - _

320 W

I

L . .




ﬂM&L.._M&gw_umgAt i R

S

 Wattwm ej;_ew_ia__ﬂzng_\gs:’u_uM%* 7["" me ,o.sui.y}

A:d/u;#aw _e_u\ae f.om,e.y

T Coi\s ave uned . the \\Sﬁ\fs*imég_igmcg_
u’ﬂpAt&%g_quLgAADl,_‘l:AAL_Lou_LT\&PéAgn‘QQV
 Curvent G o

. Qc B . . S ~

! A—e—_:fm n
~ Nc E Loadl -




N

il

L

|

g

,l.
j“.

5

is”
}
&
.
|

Z = Q.3 R
> |20 Lo -
o B — A
9. \3] = - -
| ‘ | - -
]pj. (\l?o)(l?.tq) Cos | O« 24.37 \ —
P 8368w * -






